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a |SPCTvkHR—IL O 20| x 0-1 | x 5-7 0-1 3 7 9 -2 5
b [vAFLTZOF x 0-2 O 30| A 1-1 0-3 4 4 6 -2 3
c |FTLo—ILTvbTIL O 1-0 | x 0-3 X 1-5 0-0 4 2 8 -6 4
d |FC vamMITY O75| A 1-1| O 5-1 0-3 7 13 10 3 2
e |AMGFC O1-0| O30| A00]| O 30 10 7 0 7 1
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b [NHS O 4-0 x 3-4 | O 4-1 6 11 5 6 2
¢ |nats O 10-1| O 4-3 O 1-0 9 15 4 11 1
d [|RA[DvbHILoSD O 40| x 1-4 | x 0-1 3 5 5 0 3
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a |PAR-A4/R— 3> O50| O 31| O 31|0O 13-0 12 24 2 22 1
b |FCEREE{ZHET X 0-5 x 02| O 30| O 32 6 6 9 -3 3
¢ |ALH x 1-3 | O 2-0 O 30| O 2-1 9 8 4 4 2
d |Trust FC x 1-3 | x 0-3 | x 0-3 O 1-0 3 2 9 -7 4
e |Webroot FC x 0-13| x 2-3 | x 12 | x 0-1 0 3 19 -16 5
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a |METHY/o1—43—X A 3-3 x 0-1 | O 20| A 1-1 5 6 5 1 3
b |<!H F.C. A 3-3 O 21| O 31| O 43 10 12 8 4 1
¢ |TPC O 1-0 X 1-2 O 80| O 2-1 9 12 3 9 2
d |NSR x 0-2 | x 1-3 | x 0-8 X 0-6 0 1 19 -18 5
e |[RyrT—ILF A 1-1 X 3-4 x 1-2 | O 6-0 4 11 7 4 4
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